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In[1]:= f x2 Cos[mmx] dx
0

2mmCos[mn] + (—2 +m? 7r2) Sin[m ]
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Inf3):= J- x2 Sinfmrrx] dx
0

-2+ (2 -m? nz) Cos[mn] +2mn Sin[m ]

Out[3]=

m3 73

m7i= Plot[{(1/6), If[-1<x<0,0, x%]}, (%, -1, 1}]
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In[8):= Plot[{(l/ 6) - (2/7\'2) Cos[rx] + ((7r2—4) /7\'3) Sin[rx] +
(1/(27°%)) Cos[27x] - (1/(27)) Sin[2 7 x], If[-1<x<0,0, x*]}, {x, -1, 1}]
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In[9]:= Plot[{l /6, (1/6) - (2/7r2) Cos [ x] + ((7r2—4) /7r3) Sin[rx],
(1/6) - (2/7®) Cos[rx] + ((n*-4) /n*) sin[xx] + (1/ (27®)) Cos[27x] -
(1/(27)) sin[27x], If[-1<x<0, 0, x*]}, {x, -1, 1}]
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Inf12]:= Plot[{((14 7%+ 8) /7r3) Sin[rx], I£[0<x<1, 4-x7,

If[-1<x<0, -4+x%7, If[-2<x<-1,4-(x+2)%, -4+ (x-2)2]11}, 1%, -2, 2}]
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mit3= Plot[{((14 n* +8) /7®) Sin[rx] - (1/7) Sin[2 7 x], If[0<x<1, 4-x%,
If[-1<x<0, -4+x?, If[-2<x< -1, 4- (x+2)%, -4+ (x-2)%]]]}, {x, -2, 2}]
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In[15]:= Plot[{((14 n? +8) /7r3) Sin[mx],
((14 7r2+8)/7r3) Sin[mrx} - (1/x) Sin[2 7 x], ((14 7r2+8) /7r3) Sin[rx] -
(1/7) 8in[27x] + ((126 x*+8) / (277%)) sin[3nx], If[0<x<1, 4-%7,

If[-1<x<0, -4+x%, If[-2<x<-1, 4~ (x+2)%, -4+ (x-2)%]]1}, {x, -2, 2}]
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